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for SD= 0.2 overall fit, standartized back to a SD=1

N = 1000   Bandwidth = 0.0001903

D
en

si
ty

−1.0 −0.5 0.0 0.5

0
10

20
30

40
50

for SD= 0.1 overall fit, standartized back to a SD=1

N = 1000   Bandwidth = 0.003427

D
en

si
ty

−2.5 −2.0 −1.5 −1.0 −0.5 0.0 0.5 1.0

0
1

2
3

4

for SD= 0.05 overall fit, standartized back to a SD=1

N = 1000   Bandwidth = 0.06324

D
en

si
ty

−12 −10 −8 −6 −4 −2 0

0
1

2
3

4
5

for SD= 0.01 overall fit, standartized back to a SD=1

N = 1000   Bandwidth = 0.04508

D
en

si
ty


